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“XIS2QAD| AHBE 50,0008 204 A * 122 1,200
-EZ0/3Y =X 2o S
120,0002 %174 2 %128 1,440
~HANY ANZERE M (LH)
200, 00021 * 10CH »2¢ 4,000
-2A0I3Y 2=R8E 7Y
3,0002 *310% x23] 1,860
~HAETR 7Y 5,0002 %3102 525 +23] 6,200
~HAE HY DY 3302«310Y 5L i« 122 6,138
t2EA PPEN 7Y 2502 %20, 000% 5,000
—MIIZE0I0] ¥ 224 TV E2(B2)
3,000, 0002 122 36,000
-EHZ0IE =X B2y |
150,0002 * 128 1,800
-HEEII2 $RES MA 1502 +90,0000H 13,500
-HEEDI2 YREES Z2UY 242
330,000, 000! *2. 14% 7,062
-#Z0/39 ZEEN Z2W NE
200,0002 * 142 2,800
03294y 1,260
~EHF0ISE BHHE AANRARSY
70,0008 +6% 420
“HIIZHEAA FRXHIIS 2SR/ &
sag 70,0008 +6% 23 840
O4. 1=l 5,940
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O5.22H| 46,980
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SN HB SR (BIH) - A - B S 0l &b S D=2
BN B O - HSAY - B2 Sh Of] &F o8 e
-HAXY 2 MHSAHI(SHIIAL 28)
4,000 3 ~45H 261 46,980
02 2223H| 1,500 1,500 0
O3. A& ZHIR Xl 1,500
-2 2 0Istd AASHAIAEH |RX 2=
1,500,000& 1,500
202 (4Hl 14,400 14,400 0
01 =LA b 14,400 14,400 0
OFALME R0
60,000 x5 % 32 *83] 7,200
QHIIZSHMelAlE SIZETAIE a0
60,0002 *x3H 3L 102 5,400
QHII2H™elAld =& 0l
60,0003 x2H x3 x53] 1,800
203 HRFLH| 2,000 2,000 0
03 AEFIHSFAH| 2,000 2,000 0
OBASED ANMEX ALEFY|
2,000,000& 2,000
206 =4l 8,000 0 8,000
01 MHZ bl 8,000 0 8,000
OAMEo & =& ME+7 800,000 1070 & 8,000
301 et2 4= 60,242 38,988 21,254
09 SUIRRABLZ 9,642 6,388 3,254
O3UAZRRE 9,642
-Jl=g 88,0003 x3E «12& 3,168
-S4l 5,000 *3H 22U+ 12 3,960
-S| 2,000 x3H 222 x 123 1,584
-1 =l 140,000 & «3H 23] 840
-EHe E=Ed 15,0003 »3H 2 90
10 EALAHIEA S 50,600 32,600 18,000
SEENEERIETETREIN
50,000& *310H 23| 31,000
OBZ0Ise FAERT SRS M K28
ol 2l) 700,000 »28H 19,600
307 QI2+0l A 630,000 630,000 0
05 2IRIRAES 630,000 630,000 0
OEATO QI2ISIEZ (TN
52,500,000& 123 630,000
2N E2H 772,721 920,220 A 147,499
101 Q14| 255,407 395,456 A 140,049
04 JIZHMIZ2XEE =+ 255,407 395,456 A 140,049
oMl 28SI| Lolesa 164,807
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-AHEE JI2RES 148,608,000& *10.9% 16,199
OFZXZ0| sZESAMU(LXtel &E) 90,600
-1y 200,000& 60 7 84,000
-28 2 f0i3 110,000& «60H 6,600
201 ety 515,514 522,964 AT ,450
01 AtE22|HI 509,314 517,814 28,500
O1. g 8t=Z | 509,314
M JISYESEI LesER 20 2
5,000& *40J4 x23] 400
-MYJISE S0 HSEAN Sy & 2stE
1,440,000& 1,440
-MYJIEYSEI 0T HA
20,000& *1000H 2,000
-MYJISYEEI AFMSHHE ME
2002 *3Z+10,0000H 6,000
-MYJISEH AEASE MA 411,500
°514 21& %300, 0000H 6,300
*10¢ 28% 3,000, 0000H 84,000
*208 473 3,200, 00004 150,400
*50¢8 1043 +900, 0000H 93,600
° 100 £ 193& *400, 0000H 77,200
-MADISEMN RASF SE8UHE =2
3 660,000,000 *2. 14% 78,324
-JIEEd 232 S5+ 193&+50,0000H 9,650
02 2323l 6,200 5,150 1,050
O1.2223Z A 4,200
-MYDIEYEED 2E RERS
1,750 x20021 x 128 4,200
O3. Al € ZHIS X4 2,000
M JIE2Y SO ZAITHHs RXES
500, 000& 4CH 2,000
301 EtEA = 1,800 1,800 0
12 JIEtEA S 1,800 1,800 0
OMeDISESI MIZaSs 50,000& »2024 1,000
O1223 MEAX ABAIHE ANZA=
20,000& 4024 800
BAANE (M )FR2E 658,814 653,755 5,059
201 B3| 592,294 526,355 65,939
01 A2 22l 4,800 4,800 0
O1. L=t 4,800
“HAXE HIEAM 222
30,000 »48CH*23 2,880
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—HAaxyg FLUTAM =2 40,0002 *48CH 1,920
02 =234l 587,494 521,555 65,939
O1.33224AA 34,800
-EAXE BEE 600, 000 =48CH 28,800
“EADEE A= 500,000 *12& 6,000
O3. A& &HIK X 5,551
-S40 =X3& A2=AY|
2, 7173 *2,043 5,551
O4. Xt & BHH| 547 143
=FAUN; 12,838,000 *47CH+0.9 543,048
-= &t 4,095,000 «1CH 4,095
206 M= Hl 28,160 23,400 4,760
01 M=z bl 28,160 23,400 4,760
OLHAEAX B4 2¢
150,000 *3M =40l = 128 21,600
OFAXE NIHEHIE ME
100, 000& 35 *63| 1,800
OEAXE HIXE 245 7+
40,000 *47CH 1,880
OFAXE Lo ot N2 2
10,0003 122 «240H 2,880
401 Al UL 2 THY] 32,000 49,000 A17,000
01 Al&HI 32,000 49,000 A17,000
OL-HFH AR =H 3,000,000 *4CH 12,000
OLFHAINY LFEIX =L
1,000,000& = 10CH 10,000
OLEEAX XX A L XHSFEXICH
HXI S A 5,000,000 *14] 5,000
OZilste=Rsl2 HEA U2 WMBA
5,000,000 =14 5,000
405 RHabFE SHI 6,360 55,000 248,640
01 XL SSFHSHI 6,360 55,000 A\48,640
OstdlIstA=X g2 AlY HOlZ2 2e(6208)
230,000 * 124 2,760
OZ 0SSR & AlY Xt 2
50,000 x724 3,600
HHIIA NUSIHES A (EX) 380,000 368,000 12,000
= 54,000
== 27,000
Al 299,000
405 KHaHFE SHI 380,000 368,000 12,000
= 54,000
= 27,000
Al 299,000
01 ML ESHSHI 380,000 368,000 12,000
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SO (B H) - HEAY - B2  OH &EIE H D=2
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O&AHIIA HAaXtE 2 95,000, 000& =4 CH 380,000
= 54,000
= 27,000
Al 299,000
G{Ys1Ns]] 165,027 953,936 788,909
801 oildlYl 165,027 953,936 AT788,909
01 ollglyl 165,027 953,936 A788,909
Oulgltl 165,027,000& 165,027
ORI (20|53 14,450 0 14,450
201 LEr23d| 14,450 0 14,450
03 A2 I 14,450 0 14,450
OF3AL=8 7Y 14,450
-SEN=SE HME 2 199:& *50, 0000H 9,950
- 2,000& =400 800
& 3003 *2,0002 ¢l 600
B WY (=19 5,000& 1204 600
-PPILCH 500& *5, 00004 2,500
HEETRl U 2H(BAAASHEN) 15,752,004 4,927,166 10,824,928
= 3,995,000
Al 11,757,094
MYDINE® 29 2,291,554 2,237,866 53,688
101 Q24| 42,728 41,066 1,662
04 JI2ZtMZ22XNs2+ 42,728 41,066 1,662
Ot &ael(2Ad)o2Y
34,4003 »43 280 38,528
O4Ui2de JI2RE3 38,528,000 x10.9% 4,200
201 LBr23| 503,037 454,612 48,425
01 AtE2teltl 129,670 114,920 14,750
O1. 8 +=2Y| 115,040
-HEE Y 93 XY 2,000,000 2,000
-HZ24 RFIE & & =X 7Y
1,000,000& 1,000
-lHed #8328 =35 =5 92,400
CHEE AES 600,000& 7 A+ 12& 50,400
*OHEE XISt S AE
400,000& 6 A~ *3H & x4 3| 28,800
*OHE & XISk BHEI 4=
400,000 61 2~ *4 3] 9,600
EY 295 AL 900,000 x4 A 13 3,600
-SE20HEE Ao|ord AL a2
220,000 = 12& 2,640
-SS10HEE &I HIIZAM =25
1,000,000& *13] 1,000
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130,002+ 1% 1,430
05. 22| 2,800
-HEE ORIZSX A
7,00024 +52 82 103! 2,800
06.Y%t2 10,000
-SOHYR 2ETY YXE
500,000 *45| % 1H £ 10,000
02 IT2YH| 373,367 339,692 33,675
O1.2222YHA 134,520
~MOtAE ABR(ES] -2, YY, 2X)
600, 0002 * 122 7,200
-~ =HeI|S0IBE HalHl 120,008 18] 120
~HIIR3(5S2 8M4) 10,000,002 <128 120,000
= aQ H

7,200,000 7,200
O2. 12t 6,044
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-SSHYE wATHIE A2
1,50024%2 £ * 1502 *2CH 374 2,700
O3. A& I R X 232,803
“5E1,2 YR 35,793
THEEE 2AE CCTV MR
500, 0002 <2CH 1,000
RIO AIAES S 2l|
10,000, 0002 *12] 0,000
AZED L4yl 200, 0002 54 1,000
"HEAE SRR 2,000,0002! 2,000
Z2E Y SHALRTL
2,717%%2,005m 5,693
SAI(ZETYA)SH R
3,000, 00024 #1CH 3,000
20| ARE DA 3,000,0002! 3,000
229 ABDET 24|
500,0002 *55 2,500
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SIIY=I A2F WHHI
500, 0003 *3CH 1,500
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TSS20HEE MOI4Hl gtilel WX
1,200,000 *13] 1,200
-2EMEE AIER X 13,476
2tels £ RFUHAIE S
2, 7173 +1,095m 2,976
2t & gtSE =&l 4,000,000& 4,000
gD A2F Wb 4,000,000& 4,000
JIH & B2 =&l 250,000 «10& 2,500
-QEMEE AL ZXIH 15,000
*R/OAIAE SXI22ldl 10,000,000 1CH 10,000
NEAIE |XH 2,000,000 = 1CH 2,000
+=SEI 4| 200,000& *5CH 1,000
S2% 4 1,000, 0003 »2CH 2,000
-HEEHAE SAL(LE, REX =&, 43)
1,000,000& =23 2,000
-EHE+ HM2AE X2l 10,000
TS 2HEE 4,000,000& 4,000
THEMEHE 4,000,000 4,000
TTEXZMEHE 2,000,000& 2,000
- E Z2Hl SXH(SFH 2 =2idl) 138,989
TEN 30,000,000& +2CH*0.9 54,000
T 24| 25,000,000 *2CH*0.9 45,000
T 2204 30,000,000& *1CH+0.9 27,000
TEHIEEH 7,216,000 *20H+0.9 12,989
-HEE MHESAH(SFH £ =2dl) 17,545
A= 4,580,000& «1CH+0.9 4,122
THRE 3,241,000 «1CH*0.9 2,917
af =Xt 5,163,000 »10H*0.9 4,647
A2 e 6,510,000 *1CH*0.9 5,859
202 044l 2,520 2,520 0
01 WY 2,520 2,520 0
OEd =M L AIZ24 2/2104H]
60,0003 x2H x3L +72] 2,520
206 M=l 842,350 783,948 58,402
01 MHZHl 842,350 783,948 58,402
OSSHEH H&54 4+ L IAZFYY
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—SHABtE 100, 0003 1 m 365 36,500
-2 SEAM 5,000& *3kg*365& 5,475
-t L 220,000 *0.7m x365& 56,210
-HAS0IME 18,000& 10 £ «2502! 45,000
-2E0IME 12,0002 %10 £ x250& 30,000
-Hes 500 & «400kg*3652 73,000
Ogd &&=+ AEH(E532) 139,795
—-EH4t 150,000& +0.4m" 365 21,900
-32IHA 11,2003 %10 £ =365 40,880
-3elHC 11,2003 10 £ =365 40,880
-3 3,000&+10 £ »365& 10,950
- S 23,0002 #3 £ =365 25,185
Oy aiMM(ss1 2,44 ,27) 2¢ 162,820
“€J HtE 20,000 5001 *32 3,000
-ZHAN S HIIRS 100,000& 2038 2,000
I 2 XM 3,000,000& 3,000
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-ogESA 3,000,000& 3,000
-R/0ZE ARE 2 (&32,2%) 145,700
Wl 36,000& *2,000H 72,000
e 36,000 *2,000H 72,000
*ItERIXIE 34,0003 5074 1,700
-fHiHNE & L HIE T
180,000 *30H 5,400
207 A IO 6,250 6,000 250
03 AlZ &+l 6,250 6,000 250
O==&=248 = 50,000& x155+32] 2,250
O=ZEzZ4E A (LU0t HAQ 4F)
100,000& «5& +43] 2,000
O=2=8& J| 200,000& 58 1,000
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OSS20HEZ MHEMY S0I3A
80,000,000 * 14! 80,000
OSS20HE & HAZIT 2 HAXISA
1,000,000& * 154 2~ 15,000
O H H2ME =828 & Heltl
200,000,000 =14 200,000
OB E ZHelAr24 & Xl (A=100m")
20,000,000 *14] 20,000
O2H Y|~ S22 XX (M EX S
AFZ! L=500m, B=5m) 150,000, 000& *14] 150,000
O2LAE ZH -S40 S22 EE2l 324 AAl
= sl 950,000,000 *2.99/100 28,405
OLLEMEE MEAXT 2 L EOIH 2=
20,000,000 =14 20,000
OUEE AIH Xt=AlE 2 E0IN B (552)
100,000, 0003 =14 100,000
OSS2MEE M3 (AMX, SFEEX) 3L
90,000& *80m* 7,200
Ogdg E4E NI &X
15,000,000 *14] 15,000
OSS1HEE ZI|X AJ[& DHSA
10,000, 0003 =44 = 40,000
OSSIHEE B20t &3J1 A
8,000,000 *1CH 8,000
OSS1HEHE E20t 8D Al
4,500,000 «1CH 4,500
03 Al&=20HdI 2,664 2,160
OMIIINEE AIER0bI
370,000,000& *0.72/100 2,664
402 212t XH=01H 150,000 150,000
01 SIAGEEX 150,000 150,000
OQld s TAIJA SZHH2 &I (L=825m)
150,000, 000& *14] 150,000
405 AHoHESHI 10,900 21,560
01 A& 2B HSHI 10,900 21,560
Ovrelg4z 2248 ZiE 7Y
1,000,000 *1CH 1,000
OPHOIED| L (2A) 1,500,000 = 1CH 1,500
O==&8Z 2 600,000& »4CH 2,400
O&E 0l DYHEHIZ 2 (15HP)
6,000,000 *1CH 6,000
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MYDJIHEE AIEE2 A 93,540 133,720 240,180
207 oKy 33,000 33,000 0
01 1S 33,000 33,000 0
OSSHEZE HEXIESAL AAIZSZ IS IA
33,000,000 * 124! 33,000
401 Al EHI2L 2 60,540 100,720 A40,180
01 Al&dl 60,000 100,000 240,000
OlEE ANEEx & M (28, 58)
60,000,000 * 14! 60,000
03 A& 540 720 A 180
OEE A2 & e AIE R0
60,000,000 *0.90/100 540
MEHIIS NAMEE AL 5,872,000 0 5,872,000
401 Al &HIL ST 5,842,000 0 5,842,000
01 Al&d 5,769,500 0 5,769,500
ONEsdEdH OISR EXIOHL
600,000,000& * 14! 600,000
OMEHIIE NATHEE(HE , 2E)AE &
S A 5,169,500
~& A& H | 5,000,000,000:2! %3.39/100 169,500
-Al & 5,000,000,000& =14 5,000,000
02 el 59,000 0 59,000
OMEHIIZ XHEM % (8g,2=)M4 &X
S A 22l 5,000,000,000& *1.18/100 59,000
03 A& 13,500 0 13,500
OMEHIIE NHEMEE(HE L)AL AL
S 5,000,000,000! *0.27/100 13,500
403 XHXIESHHIS K20l & 30,000 0 30,000
02 BIIZSOICHEHTHE AL 30,000 0 30,000
OOZ3SMEESIIEAIE HEAE JI=HE =
g 30,000,000& =14 30,000
IS EHIISEMIAEEX (B X) 5,615,000 1,353,060 4,261,940
= 2,115,000
Al 3,500,000
401 A& HI2L S 3,500,000 853,060 2,646,940
01 Al&t| 3,500,000 850,000 2,650,000
OMEHIIZS HUXISAIE EXIOHLYI
3,500,000, 0002 * 14! 3,500,000
403 RHXIEHHIS AH2 0 & 2,115,000 500,000 1,615,000
= 2,115,000
02 BIIZSOICHEHTHE AL 2,115,000 500,000 1,615,000
OJNASHIIS Ol LA KA 2,115,000
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OIS EHIIE A2l Al (300S/2)
2,115,000,0008! %14} 2,115,000
= 2,115,000
DHOBHE HERAALI(2X) 1,880,000 1,202,520 677,480
= 1,880,000
403 XHXIGHH SR 201 1,880,000 500,000 1,380,000
=2 1,880,000
02 2IIZSOTHEHCHE A b 1,880,000 500,000 1,380,000
OMEEHIIS KUK AL 1,880,000
-DEHURMBHMB2 LY AXIA(200/Y)
1,880,000,0002! %14} 1,880,000
=2 1,880,000
MEBHIISXSHE LA SEE) 8,647, 167 10,327,714 A1,680,547
= 45,000
Al 8,602, 167
rANES 29 8,446,467 8,454,314 AT,847
201 Ygreg| 89,429 97,784 8,355
01 AtR2elt] 65,542 71,897 76,355
O1.2er2gH| 63, 142

~SASMY D LREES ZSUY 442
144,000, 00024 #2. 14% 3,082
-THEESS HHESZ K9 1002 +20,0000H 2,000
THEEE T8 EOf 22 25021+10,0000H 2,500
~HIOIHE PIEH 2l 500, 000! *4 2,000
—SAEMYI| 22l 22,400
TERIIE YL ANHYY R R
10024 %20, 0002 2,000
TANHE U DR G2 AEIH M
2002 *6, 0000H 1,200
CEXE SAZMYD| HRES AEI
R 802! %20, 0000H * 122 19,200
-SASMYD| HelS4E DXA S
I 10021+ 1,3000H 122 1,560
“HOIEHE ISHeltl 450,000 «43] 122 21,600
~SAISMYD| XS HEH A
ST AFBIISAE
5,000,000, 0002 %008/ 100+27H £ 8.000
03.29+g 1,400
£l SRS #51S LALZ 70,0008 +203l 1,400
06.2%t2 1,000
£ MEXIAS XHBYXE 500,008 <20H 1,000
02 B2 13,887 13,867 0
O1.3ZR3LHAl 4,900
~SASMYD| HolS4E DXAN ZBREE

2503 *1,3002 122 3,900
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700, 0002 *1CH 700
—SAEMYI| =HED MEXY SHHAMER
=332 150,000& = 1CH =23 300
O4. xtgte | 8,987
-SASMY I =HEI| HNEXY XEFHet|
12,838,000 *1CH*0.7 8,987
03 A2 ZH| 10,000 12,000 A2,000
OF1N=EE UsEH A 10,000, 000& 10,000
202 04 Hl 4,320 4,320 0
01 =LHO b 4,320 4,320 0
OSASMYI| 224N ALETOH|
60,0003 x2H «3 +83| 2,880
ONEEE =el=H SRFAHLI
60,0003 x2H 32 x4 3| 1,440
206 M= Hl 30,000 30,000 0
01 M=4| 30,000 30,000 0
OEM 2 (1) 7 5,000 x2,000M E 10,000
oge(1e) 2¢ 2,000& *2,5007H4 5,000
OPETY (300m2) & 300:& *20, 0004 6,000
Ong&E83(2004 ) 7€ 300, 000& =304 9,000
301 LEtEAZ 8,064 7,056 1,008
10 EALAHIZEAS 8,064 7,056 1,008
OLSA SNEE HuEdYH UASAA 2
4l 7,0003 x4G 122 x12& 4,032
OHZEIH TNHASAX S4
7,0003 x4H 12U+ 12& 4,032
307 212t01& 8,305, 154 8,305, 154 0
05 2IZtRAEF 8,305, 154 8,305, 154 0
OBEZFY MEHIIE +8SH 242
2,759& *90,000MICH 12 2,979,720
O8AE MY I =828 & Mgl 4,737,434
—=S=TE 2,120& 97 ,000MI CH=12& 2,467,680
-H==E 145,497& 1,300+ 12& 2,269,754
ONEsdEdE 29 /=
49,000,000& =12 588,000
405 K&t =H| 9,500 10,000 A500
01 &L SESFHSHI 9,500 10,000 A500
ONgs 22310 4,000,000& x2= 8,000
OsASsMdD| Mels==2 DAANAEZEE =
B 2 1,500,000 = 1CH 1,500
A3=s Zels=HE 50,500 57,000 6,500
201 LEt23d| 50,500 57,000 A 6,500
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= 5,000
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= 5,000
Al 11,700
12 JER A3 16,700 16,700 0
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10,0002 +167E 16,700
= 5,000
Al 1,700
HH2SYAU(HAD)OIEH/IIEH 15,868,565 15,648,420 220, 145
ol 2l (BAAMASEEIN) 15,736,905 15,526,940 209,965
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101 Q124 15,731,685 15,521,660 210,025
03 RINHA2E R4 15,731,685 15,521,660 210,025
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JHAI2 2 110,000& «310E 123
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HE SO 1,691,990 3102 »150%
Z2tAit| 5,000& 310 22 « 122
OrA2f=¢ 32,3803 x30 x5 x 12&
=22 97,1403 *310H 202
AXNRESFI=+E 64,7603 «310F x20
ANHSHIEE S
st 51,990 310 0. 19%43]
nsstu 433,880 *310F 0. 15+43]
FAL=E =€ 200,000& »8H x12&
Ex= 3,200,000 x14H»20E *1.5
S0 FEHES 43,0003 +310F 123
DNIERIIHAZ 2R
g AL
2= 33,3102 » 12313
803 868, 840& 1 »300%
SE SO 868,840 1€ «120%
TRY2ZRd 49,9703 x1Z »8L
Xt 33,310 x 18172
AZte 224
6,250 x1H*22A1 2tx 128
T HAS A 80,000& «12 128
TWSE A 100,000& 1 »12&
T IHAHIE =] 50,000 x1E*12&
OtEd
* B 2 Xt 40,0003 «1& 128
* J|EHILS 20,0003 «1Z~12&
* SIRHOF Ol &f 50,0003 «12 122
FEE 33,3103 » 12 »52
o= 33,3103 x1E«3L 123 «50%
= 60,0003 * 12 »23]
Lel#
JlEs 28,2303 x4H 313
0= 736, 3403 »4H »300%
SE SO 736, 3403 4 H x120%

110,112

11,160
334,800
260,400
595,200
409,200
520,800
786,776
409,200

58,284
602,268
401,512

92,951

12,249

80,702

19,200

,344,000

159,960
141,152
23,227
10,427
2,607
1,043
400

567

1,650
960
1,200
600
1,320
480
240
600
1,733
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120
80,094
35,344
8,837
3,535
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5,300 *4H #22 A 2tx 12 5,597
ZFHZ A 80,0003 x4 H«12& 3,840
== 100, 000& x4 H + 12 4,800
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s 4,080
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* JIEHHS 20,0003 x4 H 123 960
* SO Ol & 50,0003 x2E 12& 1,200
T 28,2303 x4 H x5 5,872
DEIS 28,2303 #4H «32 « 123 +50% 2,033
M= 60,000 4% x23] 480
-SSHEH R 19,344
llEs 29,0103 »1H 313 9,081
a0= 756,680& * 12 *300% 2,271
THESIHI 756,680 & * 12 120% 909
Xt 29,0102 x1H*17L 494
Aol ReAY
5,440 1B «22 A1 2tx 123 1,437
T MZ A 80,000 x1H«12& 960
TwSE x| 30,000 x1H«12& 360
JHHI & &4 50,000 x1H «12& 600
NEE 1,200
* B < &t 40,0003 x1E+12& 480
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-IEEEE 12,343,918,000& *1.30% 160,471
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-Jle 350,000& «12& 4,200
-t 5,000 *x17E*12& 1,020
|2 (HAAMASESAH) 131,660 121,480 10, 180
SN2 53,720 48,040 5,680
201 etIH| 53,720 48,040 5,680
01 At22el] 50,840 45,160 5,680
O1.get=ZH| 11,990
-RA2Y L2 5,790,000& 5,790
-EA2Y dAAZEH 6,200, 000& 6,200
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2 50,0003 » 1H 112 24 A& 11,200
=Z| 50,0003 »1H +365 18,250
OLR=1=1:] 9,400
-FA2E S| 9,400,000& 9,400
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500,000

500,000
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